u)
NO. 1
THEZRE =R (RRRED)
B E B
TlE%sE (F4E)79v4=F/RC-40  t=15cm)
606.7 m2
LJE e Chr FERFE A M-30  t=10cm)
606.7 m2
HAE B A
74 NE—fE (F t=10cm)
345.2 m2
BAE ()39y4-7/C-30 t=10cm)
345.2 m2
oA B AES (L)
T4 NE—fE (F t=10cm)
24.6 m2
BAE (159y4-7/C-30 t=10cm)
24.6 m2
THEA B
A (FAERC-30 t=10cm)
13.5 m2
EJE (BRIEFATAIIVN t=3cm) 1. 4mPL E3. OmEL T
13.5 m2




u)
NO. 2
TS T A g (A7 45050
B E B
TlE%sE (F4E)79v4=F/RC-40  t=15cm)
762.0 m2
LJE e Chr FERFE A M-30  t=10cm)
762.0 m2
o (AR E T 2veE 18 t=5em) 3. Omi#
762.0 m2
FE (HABRET A2/ G T t=5cm) 3. OmiR
762.0 m2
HAE S A
7 4E—kE (W t=10cm)
669.7 m2
BAE ()59y4-7/C-30 t=10cm)
669.7 m2
g GHBAVESIERAINET A77h s t=3cm) 2. 4mPL |k
669.7 m2
oA B AES(L)
7 4F—kE (W t=10cm)
11.3 m2
BAE (159y4-7/C-30 t=10cm)
11.3 m2
g GHBAVESIERANET A77h s t=3cm) 2. 4mPL |k
11.3 m2
THEA B
AE (FAERC-30 t=10cm)
12.9 m2
EJE (BRIEFATAIIVN t=3cm) 1. 4mPL E3. OmEL T
12.9 m2




i 'S T L t S L

A g &gt wEEt [
14 (3. OmiR) 606. 7 606. 7 |Al
18 (1. 4mA ) 0.0 0.0 A2-1
I3 (3. OmiR) 0.0 - [A2-2
& (1. 4mA i) 0.0 A3-1
T ZE =R A (1. 4mPh_F2. dmAi) 0.0 345.2 |A3-2
(ARARER) 1 (2. 4mPL 1) 345. 2 A3-3
18 HL 3 A (2. 4mPA 1) 24. 6 24.6 |A4
N (1. 4mRik) A5-3
HEAPE (1. 4mPL E3. 0mPL T) 13.5 13.5 [A5-1
HE AR (3. Omi) 0.0 A5—2
H08 (3. Omd) 762. 0 762.0 |A8
{AE (1. 4mAT) 0.0 0.0 A2-1
{HI5E (3. OmitR) 0.0 - [A2-2
- _ . B (1. 4mAK ) 0.0 A3-1
Tﬁﬁ%,ﬁg*ﬂ%’%ﬁ 0 (1. AmbL F2. AmA%H) 0.0 669. 7 [A3-2
ST Aol (2. 4mb) 1) 669. 7 A3-3
38 B 3 A (2. 4mPA 1) 11.3 11.3 |a4
HEARE (1. 4mPL 3. 0mPL T) 12.9 12,9 JAL
HEA B (3. OmtR) 0.0 -7 |AB-2
T Tyﬂﬁ T T = WIS AR SRR AS 22~ AT T =0 P R A S )
A2-1 A2-2 A3-1 A3-2 A3-3 A4 A5-1 A5—2
EL 158 & A A B PN SCINS SCINS
(3. ont) Cakil) | Gom® | awkin | S| @b | eann | MAE (3. ont)
Al A1l AE T A ETAIAEIATIET AT AET AT AET AT ET A
@) 606. 7
@ 204. 1
® 15. 1 8.2 4.5
0 48.6 3.2 4.5
0) 3.9 8.2 4.5
M) 73.5
/AL 606. 7 141 1]204. 1] 24.6] 0.0] 13.5] 0.0
ozl 606. 7 345. 2 24. 6 13.5
BT =M IiR (B )
A8 A2-1 A2-2 A3-1 A3-2 A3-3 A4 A5-1 A5—2
B 158 & A A HAiE PN SCINS SCINS
(3. ont) Cakil) | Gom® | awkin | S| canh | eann | MAE (3. ont)
Al A1l AT A ETAIAEATATIET AT ET AT AET AT ET A
@) 444. 6 175. 2[177.7
@) 317. 4 181.4[135. 4 11.3 12.9
/AL 762. 0 356.6]313. 1] 0.0 11.3] 0.0 12.9
ozl 762. 0 669. 7 11.3 12.9




A1=606. 7m2
il (3. OmiB)

TEREER (KRED)

AR =0 SRR (RERER)

Al BiE (3. OmiE)

A8 =3B (3.0mER)

A2-1 & (1. 4mk i)

A3-3 S (2.4mpAE)

A2-2 fAliE (3. OmER)

M SEBEmREAR (2.4md L)

A3-3 H3E (2. 4mplt)

A5-2 HEARE (3. OmER)

A SEEWEREAR (2. 4melE)

REREREOR (ZERE)

A5-3 HEARR (1. 4mkKi)

A9 HiE (3. OmER)

A5-1 FEARE (1.4mLlE3. OmLLTR)

A3-1 & (1. Amsfid)

A5-2 HEARE (3. OmiE)

A3-3 S (2.4mpAE)

REM=MEERR (ZERE)

M SEBEmREAR (2.4md L)

A6-1 & (1. 4mK i)

—HREE431 S (RERED)

A6-2 EHiE (3. OmiB)

A10 E3&E (3. OmiB)

A7 HiE (1. 4mEKiE)

A3-1 & (1. Amsfid)

A3-2 H3E (1. 4meh k2. dmK i)

A3-3 S (2.4mpAE)

A3-3 H3E (2. 4mplt)

M SEBEmREAR (2.4md L)

A SEEWEREAR (2. 4milE)

A5-2 #EARE (3. 0mER)

A5-2 HEARE (3. OmiE)

A3-3=48. 6m2

A5-1=4. 5m2
EAER
(1. 4mA £3. O F)

A4=8. 2m2

i (2. 4miL k)

A5-1=4. 5m2

\5 HEAHE (1. 4nil £3. OmELT)
A4=8. 2m2
v

A3-3=89. 3m2
Hill 2, il k)

~

,—:”‘amrr%,w
—_—— ar T T
I
I
I
] >
ok
N
——_
| =
SN o T
D4 ::Oawz -
” " ”5_//_36'\\“
. g
” " I
[ A3-3=204. 1m2
I’II 43 (2. 4mblE)
21 [ as

[ =) A3-3=175. 2m2
A8=444.6m2 55 (2 anpit)
wEL oD\ —
g i
5 ey
) 5 N Ao
] N3l
g !N
g At \ [ N
A B
v 3. OmBL )
A4=8. 2m2
EXTTTIC L)
— 2 .1‘1173 X
Y
g
I .,
&4/
)
i Y b
/
/ e
/ y
s //g / 2

4
// /A3-3=171. Tm2
// /  Hi# Q@ 4mpt)
S/
am
\\&(SQ

N >

s00
/

’ %\

9€

A
IR s w318
«
* e
Ry,
. \ Y 5
T |
& —
= L
N7 R 7
! = // 2
i _# . I
E 312 /
£y i
& A /
| -
| 2 /ms‘\
@, //
g /|
Z b 2/ |




A3-3=181. 4m2
%38 (2. 4mil k)

(322 ]
A8=317. 4m2

A3-3=135. 4m2
il (2. 4mil k)

—

A4=11. 3m2
ERLETTE N

2. 4mpl E
A5-1=12. 9m2

HEARE (1. 4ml E£3. OmELF)

A5-2=6. Om2

TERES MR (RERER)

AR =W SRR (:ﬁiﬁ%ﬁp“

Al E3E (3. OmiB)

A8 EiE (3.0miB)

A2-1 I (1. 4mk;i)

A3-3 $HiB (2. 4mblE) !

A2-2 {813 (3.0miR)

M SEBEERERAE (2. 4Ll kD>

A3-3 #iE (2.4mpl k)

A5-2 # AR (3.OmiB) [ |l

M SEERRAE (2. 4melt)

REFERMOLE GEAH | ,‘LT

A5-3 H#EARR (1. 4mfi)

A9 EE (3.0miB)

A5-1 HEARE (1.4mELE3. OmELTF)

]&@
A1 38 (1. dnskm) il
Ll

A5-2 FEARR (3. Omi#)

A3-3 S (2.4mpL k)

RE@m=MFEERR (XERED

M SEBEBEREAS (2. 4mLlE)

A6-1 BB (1. 4mkiH)

—REE431E (RERED

A6-2 EHiE (3. Omig)

A10 E5E (3. OmiB)

A7 H3E (1. dmkii)

A3-1 HE (. 4mki)

A3-2 38 (1. 4mLlE2. 4mK i)

A3-3 i (2.4melt)

A3-3 i (2.4mplE)

A4 SEEFRAR (2.4melt)

M SEBEERAE (2.4mdt)

A5-2 #EARE (3. OmiR)

A5-2 EARR (3. Omi#)




% el T 1k H £

BER7av s (77 v b, fEUEBSCIP) L = 18.0

ER7ayr (75w b, 'Y AN) L = 8.0




15HEEERI DY) 3 £ B ==
x 181 A {81
2 B E R | B ZE i1 BE E K |
NO.34+13.0 ~ NO.35+7.0 18.0
I E 18.0
a8 180




25 SHEEER7 0 = £ i e
yo E ¥l gl
v B £ K e = iz B £ K g =
NO.34+13.0 ~ NO.35+7.0 8.0 4.0+4.0=8.0|
I 5t 8.0
& & 80




1SSEEERIOVY HEHER

To5vk
1ZE#(BSC1P)

130,, 180, 300

300
10Q_200
7
QC\J
0

20

100
-
-
—~
-
-

BELZIL
1:3

50 650 EmpRA

700 RC-40

& W % " = 100m& Y =

e
BRI OyI—AKE | ISk, ZEER 5.0

m3

BE/LZIL 1:3 0.65x0.02x10.0 0.130

HEEwa RC-40t=10cm |0.70 X 10.0 700 ™




25 SEEER IOV HBEHER
To5vk
(‘YAN)
650
20 20
130,180, 300
N oS
o —
S 0 004 WEILZIL
1:3
50 650 HEERA
700 RC-40
& W % g = 10.0mL Y E &
BRIy — AR | D5k, G IFR 100 B
HEJLSIL 1:3 0.65x%0.02 x 10.0 o130 ™
HEgEwa RC-40t=10cm |0.70 X 10.0 700 ™




B & M T £

WoWoBo# M T

B =~ 47" Gp-Bp-2E




n"—NnN'47° Gp-Bp-2E E £ HE =
i 1 A 1
i & E R | B = Yo &
NO.35+7.0 ~ NO.35+4.7
N B 50
= 5.r8




